Ch (4 on Cate Ao

N A= cos (=) (“5 -
B @ ,4,:(\‘(><\~ =51 {{——QK\ Eo’-lj_m (r ”3@(

(S'V\)Q Q

,: B@mQ < (os X = ESIH X COOK\ o

ey

A\

ST

Q

9

L= sin 6D = (smu&))/z @Rje>

@'@(KX X (Oo X \DR

V,G(x\' C(V\X\J(Si}’\;w

5(%3 h‘t @

8 {t—x = 3 Los‘x -

L£ley= Ya (5&&‘-}) = . cos (><"\ 2x , e
- X+ cos () o~ X cos(x2 }
JETR) L 3T Y 0 VY E——

‘p(k)* 2 (sin) + 2x ccosxe =( =xTSink 42xwox |

Dy-fntd @

%CS'—__,L* __L__. = G
”71_{\)( CO%)C

L0y = J"" Smx\"’* \ﬂx

J\/\-—




o EE—— ﬂ

om y=Qshxeox B I

kd Qémx (=sin X))+ A S 7 —

[- B :/ég;f\ )(‘f‘ &Q\szk , N T

R Ws*X — &SIn Vi<

N

@ - A ((ca?x —gin? »a e
f@ =2 Cos 2><} o

@S@%xlswa de = H () et

LXLP <+ (o < ***C_, \oo

1@ Scosaddn €5z 3x au- 3ax /QQZZP)

\/‘ L I

S cosw-Bdu —
Vs Scosudin = 3-sioutc = \‘/ 35n(BC]

— e ST T T T \/*\\/—*,f—\_,,_\,\)

L Ssm w du

Q QSIY) ‘*(XH)&)@ {&/ﬁ(/{fl du= *%(,Uc Vedu=d.

e N A

Ve Senuduw = \/L} (’(,OSx_D,*C g M} * C‘Yh

’(«,\(/—-e’—\/\r—\(‘» (‘/‘f r—\é—\(,,/ V‘\/"‘\ o~

“bKOU& s du’)co(/( "

\—/‘¥ —

S (;os (,ZXLL) XCLX e

_,.S cos s fadie : BRRRRLS e .
,,,\/,H,,,\S,QQS,LL du = l/w Smu +C. =1 VYt sin 2x2)+ C)




0 (280 - e

(C()S(ZETD\‘-

,f\/\/ \/7\_, T T N TN TN TN

du=cos(aee)  du= -25,/\{;“\@?\ lﬁ;fff,jf]f;_,_,_ﬂ
e Thdu= Sin (240d€ 5 o

N e TN N

) @S x e a5 xPox

S ~8Ih x* Y { 2
1 Oe T “xeesx*dx , Vzdiu= X ws xFdyx
e A A

& fenlo) an- foncm)- 4t

S Shid cdu= —Gsutl =|—c

2.

diu = Cos‘;c 2><oh<

S

5 an-

E (o cos S@bx N R {t?l*im;\

(Z<5m® (2 5in )~ du=csx dx i
%

= b, o
=




5’/}@ S,%ﬁm xclx = T Cos x]&% S "/; ) A_

o () = (~cos T = — (D) + () o]

~ T ;‘/a ¥ P,
' O CHS/M\ dx =X+ "Cosxzb - ~

D e }

(- cosmy- (6-cos0) ~ T=(-D=(o=D)
= T A =AM )

108" (in x +contoa) o

)T a - A S
’ SW\K dox B 3; 5 (2l du=2du
~CesTH = ( @s O)
"("3 -+ {B /2' Sc (CSL&OL&’L

xi =

i x=T Uu=2% [
e x=0 =

o)
/L Sin ‘*lzv /2_ bnn ,;a] e

- 2 (Sm [“u\ ano} =V, (O O> @

2+0 =[21

U= S$InX .
S e sewexx = 8w -5du
Lie %= u=|

QS 5 5m Xuoxcb)c S 5(51n><35/2<0j__3<d& )
, du= cosxdx ¢
A Sdu= b(ojdx }f
55‘ ulan = B-7s LL5/7’1 L = V'2u5/z‘1 iD o (\\f:fjg ;.i:iffﬁ;
2 (- B 2 (- e)) 20921




CH) Y= s (3k-G) Pi‘ FE) N

[

u' = —sin Ax-y-3

U
t*f 3Sin (Bv-6) S

m= —3 5!0(3 2 (zb "5 SinQ = ,~3(c>3 = O o
m=0o  Lim= orebfasd v So \Jf/cﬁu_ﬂ (an

mrm@,@m&_j’cﬁi ﬂﬁ% (A)JB,,,W__M

g2 sindE X S  bixeTT pamlel do g lext3
’/’LLDS C /&K e -
,,,m* \/i—t fr=3 Parcdleﬁ o - o
_ \/

/2 m(/ﬁx/

LM*A oxo I R
cos A= /2. o o

A= T3 e STz T TEX=N
Sx= T3 or 55 , g=sin (2% .
x= Tz o '% 3 = Sin (ﬂ“} (3>

2

Y SEW = BovC om0 “

S&—5ind)dy = x> = (s +C = loxPtcmxtC

2=Y2 (Y + es (DTC e

2~(rC =




| 7\.) fx)= Psm(x)queNr . \,“f/k)(]Lg,Q SW@% Z %— e -

AJ . arplithele= 2 = e R

T O Geon<Dax

% 71 3271' 27[ B Bﬁ& - ; o
’Qws e —ealx.ﬂl -

o /\ e

=N Mooy ta( Thoe) fﬁf_f'*_,'ff_, S

- $2Cwstor coxt Do slus3]

2.366 i v

© <+ 8 (VEex - os)dx = |36 |

"1
1 6/ (2.366,1.183) ~
o / 3 2 D = SRR S B T AT MIND-2 OV  SUGSIIg 3 - S e R U S e S St et SR v

1 2 3 4%

_ b G
i 5 T Gind e S eVl

S T lmyin(d93) 8w (e Vdxs[H50)




a3

I

g . ., 1 S S S g ) ) I
,_,Si_m,clz.? O.G42 Sm \L’" S!\n O = 0.Q42

Snk— 6= 04942

Qnl = 0:.942 .

,,,,5“/) ‘(0 'C’lﬁzf\) — K‘ 1.;‘r .

k= L;ij

i) ()= Q_f“f“f? — iy

SiHey = '—ib(ém(:ﬁﬂ OSEO L G655 +
 Cos(BE)5 - e ces(5¢)

IR N—— MM____%__‘__%\

\;o;o,_‘t\sef} &5@\

Zs\akolom/ahm’}cfrm E mioe ok £=1g
SHMsN=0 and s"(qsﬁ > 0O

(s¥
50 sinls)e™ 2

0 (T_/’}‘ “IDSN\,('E) ﬂ7\ Co>(5 s)
__ O@

= s T e’ = '16(059 =

S”CW/S\ EOQCQS(S ) ((5114 S "75) “605(5 7s\>
50 e (Gin Y ’“Cos-r\

Soe ((O)“‘( ~i
B (D = e v 0 @

E@W sk)= 2 o (59 cmc Nes
(*E— -lD 5m(5t}c Seer

. s'(0)= —losin(se™



N WM“_@% :Si V6

cs(se)y

| €=V = —Iosin(stle

v

df':'mfi”:f _




